A 2 ol & A S B M A
P021EE 20la SRS SHa
T 200 AISI4
B 210 FAFN AL
5 212 ABR2Y (e9: & 9)
H.o@-g-2 ol & =0 ko HDS2
= | 17,758,958 13,569,826 4,189,132
200 Al 24 897,000 891,000 6.000
210 ZAT AL+ 577,000 577,000 0
212 NSESY 460,000 450,000 10,000
212-03 St S A S 450,000 450,000 0
<HeBAYL > 450,000 450,000 0
OBt+E A2 450,000, 0002 450,000
212-00 JIEAE 2 10,000 0 10,000
<gesAes > 10,000 0 10,000
O2LHelZ AM82 10,000, 000& 10,000
213 #4842 27,000 27,000 0
213-05 JIEt442 27,000 27,000 0
<HeSAYL > 27,000 27,000 0
ONES2LBIBHAAE 018222 27,000
— &0t 21,600, 0002 21,600
) 5,400,000% 5,400
216 O Xt42) 90,000 100,000 £10,000
216-01 B0 S0/ X4 & 90,000 100,000 £10,000
<HeBAYL > 90,000 100,000 210,000
00T 4+2 90,000, 0002 90,000
220 4 Al AISI 4 315,000 309,000 6,000
224 JIEH42 300,000 300,000 0
224-07 19142 300,000 300,000 0
<gesAYL > 300,000 300,000 0
LTI ET=1 300,000,0002 300,000
225 XILol T 49 15,000 9,000 6.000
225-01 XItol =49 15,000 9,000 6,000
<HeSAYL > 15,000 9,000 6,000
OBt+ZAEE 15,000,000%! 15,000
230 NILHZH - 223 5,000 5,000 0
234 DEHE 5,000 5,000 0
234-02 JIEtDHEN2 5,000 5,000 0
<gesAYs > 5,000 5,000 0
OBt+EY 98t DEHE 5,000,000% 5,000
500 2X2 10,480,096 9,698,882 781,214
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0 i 021
[G2ING NG, )
=38
W W
k)R B
L T 0L
P

U 0l

on-oin

B.8-.2 0l &k o8 B ol by
510 I NEX=3S 10,381,596 9,663,882
=12X=S 10,381,596 9,663,882
5,159,000 5,038,000
5,159,000 5,038,000
o =T EMY 175,000, 000& 175,000
OXl =T EMY 51,000,000& 51,000
O=x2l =GE UMY 170,000,000 170,000
OfR=F8 A EHEAY 225,000,000 225,000
Oetd ™ StXMel 79 SSEAY 1,245,000,000& 1,245,000
OfsY g4 SEAMS 2,287,000,000& 2,287,000
OxFs = S o= &EHIALS 314,000,000& 314,000
Of=z 22 JHEALY 500,000,000 500,000
ONESLTRHANE AHYNAL WAL
192,000,000 192,000
511-03 JI1=2 5,222,596 4,625,882
< B Mt 512,799 471,292
Os&0ot SHALY 10,000,000 10,000
Oz&= FOXE 370,974,000& 370,974
OxEHEY 100,825,000& 100,825
OF2 XA 2 0B A& 31,000,000 31,000
< HESAMgL > 4,709,797 4,154,590
OdII=AME4X 1,991,000
— Al SHEDNS dt-=SEAMY 258,000,000& 258,000
s sHENS st EAY 168,000, 000& 168,000
OtH ™ St=HMel 7Y EEAY 427,000,000 427,000
SEH S3ot=HM2E SEAMY 784,000,000& 784,000
=S sHE02 ot==FHIA LS 107,000, 000& 107,000
zcl sHENS st==FHIALS 58,000,000& 58,000
—2FE dt=HMel7Y SEFAY 189,000, 000& 189,000
SEIZANE2Y 2,718,797
—ol=E228F HYXNY HZH 1,621&%95.24 =123 1,851
4 N&e&EH 3,200,000& 3,200
42,000,000& x12& 504,000
A Xl 1,851,000& 1,851
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Z: 500 X3
2 510 INEE3S
&: 511 FNPEIES (Sl &R)
Z.@.-8.2 Ol &t o4 B 0 ot o Hms2

— BI3I+HAANL(2F 2 250 2) 1,516,098, 0002 1,516,098

S ENE 184,000,000 184,000

- tEERHAAL 311.000,000% 311,000

- BB HUANE H2d 196,797,000 196,797
520 Al - CHIZESS 98,500 35,000 63,500
521 Al - SHI2ESS 98,500 35,000 63,500
521-01 Al - SHIRE3S 98,500 35,000 63,500
<gesAYs > 98,500 35,000 63,500

ORE8 ZEZs+H2Z SEAL 98,500, 0008 98,500
700 BESFUSL R 6,381,862 2,979,944 3,401,918
720 U= 42 6,381,862 2,479,944 3,901,918
721 83 6,381,862 2,479,944 3,901,918
721-03 JIEtEI A W e 2 6,381,862 2,479,944 3,901,918
<BAAMY > 2,436 0 2,436

OgusHE3 2.436,000% 2,436
<gesAYs > 6,379,426 2,479,944 3,899,482

Ogersly B3 6.379,426,000% 6,379,426
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